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Fg Sk DA A SHiES EABRS
1 B R ST Wk 220 3%skkkotkokokkk (0627 80
2 B E S 2T Sk 220 2sksksiioioiorok 264 1 30
3 B R ST A7 0] 412 Tkt 2060 74
4 B E S 2T % 220 Taskskskkokokokokok 2423 79
5 B R ST EXi 220 I kskskkookokkk 2828 70
6 SR SC T Sk IK 440 THottortolorkk 5325 69
7 = E S ok k2 220 4ssksksottkkskk 0028 68
8 B E S 2T B3P 231 0%kststskskokokk 042X 67
9 B R ST PhkIF 1401 sksokskotondk k0224 67
10 5 PR ST sk fi 4408tttk k2649 66
11 B R ST A 4305%kkkkkk%%%8335 65
12 = P E ST A% 22053 kskskstsksksksksk [ 220 58
13 e P SO Ex1b 2310kt 1 223 58
14 B E S 2T kT 1404%skskskskekekekkk 8079 58
15 B P E ST Pt 530 1 sekskksroork2 1 25 58
16 B E S 2T SRS 412 Tkt k5793 55
17 B R ST * 440 3sskkokkokkkk ] 628 47
18 5 ST K 2206kttt 1514 35
19 = PE S T K17 5134 skskskstesskskokokk 0824 34

20 5 ST Xi|xtE 2308tttk 2022 24
21 ISk ] = 150 2skskskskokotetrkk 442 | 65
22 e AR U i f 6124k k40010 65
23 s {0l eyt 430 Tssskskskokokkekk 3725 62
24 (S 4] e kA 220 Ikstskssskokokkk 2623 61
25 S 4l x|, 440 1 skkkkkkk %07 66 60
26 [ { ] I 232 3skksttkskokokk 1021 59
27 ek ] Kk [y 41 30s%sskkskktrrxk 301 1 49
28 B B R 2T sk 5 41 04ssittorokok 1027 45
29 B ECE T Fx 2208 %%kt k(0480 40
30 = B 2T kg 23023kt k 0417 26
31 e R O & 3209tttk 117 23
32 i R T Fx 220 Tkttt 0825 98
33 5 P E 2 1xde 4108sskskskskskekekkk 405X 95
34 = E HUm =) 220 stk 0624 93.5
35 B P s 2T [ 440 3sssttkkkxkx 2920 93. 5
36 5 P IR AT kT 222 4skkctosctokolok | 22X 92
37 SR IOE T TR 445 Qttoloteolok 1 864 91.5
38 5 P IR AT %, R A 91.5
39 5 P E 2 Gkt 431 2tk (002 1 91.5
40 5 P E 2 JE 431 Isksteteoksieiekok§ 324 91
41 IR EUT ik 4409sktktok k588X 90
42 15 g E 2T BH* 3408k k542X 90
43 SR IOE T i kg 44523858k 002 1 88.5
44 5 P E 2T oK% 2202skkskskstskskskok 3622 38
45 5 g E 2T A 4408k k3284 87.5
46 15 g E 2T oK% 3729k 361 4 ]7
47 SR IOE T Kk 230 1 ototiotortolokd 1 22 86. 5
48 e SEAE UM kJIR 360 Ltttk 002X 86. 5
49 5 P E 2 Yk lE 440 3skssksskskskskekk [ 125 36
50 5 P IR AT i IH 440 ] sstseitotororsk 0022 85
51 5 P E 2 RN 3709skskskskskskskokokok ] 827 33
52 15 g E 2T MES= 441 Gskskskskorrokkk Q424 83
53 5 P ILE AT ok 150 Ikstotosiorork2 1 23 82.5
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54 5 P E 2 XN 430 3sksskskskskokekkk 272 1 82. 5
55 5 P ISR AT Bxg 441 Jketsttoletoikok 3726 82.5
56 SR IOE T L ERIs, 360 7kckeriokoriol k(0025 81.5
57 5 P ISR AT Sk 230 Lskiotorstioksok 3522 80
58 B P B 2T s % 4103 %skskkkkkkkk 0524 79.5
59 i R T A0 4403tttk 3525 77.5
60 5 P E 2 s 440 | sssksiskskskskekk 838 77.5
61 e R U X F 4325kttt 0347 77.5
62 5 PR 2 kI A4 1 4ok 0980 76.5
63 B E HUm FExf 41 28sketsolotookok 3624 73.5
64 5 P E 2 (5] 4290sskskskskskskekekk 3167 73. 5
65 15 E 2T Wik B 5103skskskskskskskskskok (0020 73
66 5 P E 2 PNk 232 3skskstsesskokokekk 0027 79
67 = E HUm 2SR 21 10%skopsokoksiork 2223 70
68 5 g E 2T Tk 4452 sskkskkkokokkk 1 328 69
69 5 I T T 2305kt 1986 59.5
70 B PR 2T T3 %3t 362 2sksksksksksksksksksk ] 529 74
71 AU XJfi 450 Ttttk 0044 65
72 B PR 2T Fx* 220 3skskskskskskskskskok 1 629 63
73 fa P E AU Skl 360 Tsskotleioiokk5 1 27 62
74 5 R 2 Mk = 371 2skstssskokokekk 0033 60
75 e sk ZBE SNl Fhk 290 3skksksksiiokokok ] 1 28 44
76 5 P 2 Rk L A4 1 Assesssksksrskekk 4472 43
77 R R T FhxIH 3705%kkkctkk6429 43
78 B R 2m e 440 1 sskekseskskskoksk 7329 49
79 AU R 421 Qkkrk 10625 39
80 i P EE O Akl 411 3k 45556760 36
81 sk ZBEiE 4l TR 290 2skskskskskkokokokk 4425 36
82 = PR 2T Wkl 4403tk 4823 31
83 e P EL UM Pkl 2206kkskkkkok k2134 30
84 = P 2 Akt 411 3ssksskskokokekk 4418 24
85 e Pk A U xR 120 Lkttt 1528 72
86 AR ZE M Rx 2113kttt 1525 72
87 e Rk A I FxfE A4B kAR AAIAK 525 71
88 A M AR 220 Lopstoiotokiok 7829 70
89 AR 2 O FexTt 4403sssotlootokonk0413 69
90 S A== { ] LRkl 3607 skkktskskskektk 1040 66
91 AR 2E O TR 440 Ttttk 0040 64
92 ISt d==<-{li] 2% 2205%kskskkkkkk (125 63
93 = A A O Fx5H 1302sksctotork2929 63
94 = A M Rx 4403tttk 0049 61
95 Rk A U JExiE 3603kkctioriok 352X 54
96 e A== { ] gfek 2% 431 0%srtitkkk 2424 59
97 e Rk A I Fx 3623kttt 0026 49
98 B Ak sE 2T frhx 211 Osksisksisksisisksiek 1 028 48
99 (St 4] Txe 290 3skskskskskskskskokok 1 26 48
100 B AL 2T X3t 5116%kskstskskskokokk 8749 47
101 AR 2E O XI55 441 Gtttk 4667 46
102 IS A== (] k-4 2105%kskskskskskokokx 21 16 44
103 = A A O (< 1504tttk 072X 41
104 S A== 4] [X xffk 440 3ok k%2316 34
105 Rk A U T 2301 kkictiotkk4315 31
106 IS A== { ] 2% 5] 430 45sskskskskokokekk 2738 26
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107 = P AE Y2 Xl 511 6sksksksksksksksksksk8926 80
108 = AR O Ay g 412 Ttttk 145 71
109 = AR YT TR 211 0otttk 31X 69
110 = ARV T BAES 230635 kksksksksksk k5266 68
111 B A 2T FikF] 452 ] skktokkokkkk 3028 67
112 5 AR ) 2T Rl 4403kttt 061X 67
113 B A 2T % 4107 skkkkkkkk% 3063 66
114 e AE Y U fi A41 Stk 3988 65
115 = AR YT iy 3729kkitokok5 125 54
116 = AR O = 2301 kkictiotiok5925 51
117 = P AE Y2 Rl xaHE 4409tttk 8344 40
118 B AW 2m kS 440 T ssksksksksrrokkk 321 4 35
119 = P AR M 513 0sksksksksksksksksksk 4229 392
120 AT gkx 5105%kkskeielololok 1 446 R
121 = T EGREUN i 232 kst 188 69
122 = I 2 X3 3603 skkskckkoksk k2524 68
123 5 UG 20 X1k Bk 430535k 002 1 64
124 = PG 2T SR 1504sksksksestestokokok 4 385 63
125 = P EOE 2T EPVIN 21 04skssksisksksisrsk (0033 62
126 = B 2T 25k 14053 ksssiiotokiok 1 540 61
127 = BRI ¥x 5204tttk 0038 53
128 5 i T i 14223tttk 6723 66
129 15 P b 2 A 430 1 skekskskokeskokok 3522 63
130 T T ZExgn 14045tk 0026 62
131 15 P R 2 )M sk 2208 %sskskkotkokkk [ 512 61
132 T T ik 61 245kskkdokk 3832 61
133 T T R U XI* 2 360 Lickokioickk (348 60
134 o Hb R B 5130kkpktkorkk (0284 60
135 15 o b PR 2T P 440 9sssririirokk 3243 54
136 Ty T 2 ok 37 1 Btttk 5729 48
137 15 P b 2 iy A505ksksksskskokekkk 0626 46
138 = FR U ek 4109%kkkk k550989 45
139 15 P R 2 )M X 431 sskktokkkkk k4559 45
140 T T okt 2304kt rk %0328 43
141 15 R 2 )M TL*UE 362 2%kl [ 82 1 49
142 15 M R 2 xR, 220 5%ksksksksskokokk | 82X 29
143 =R E Hm [ 8100tk 0075 67
144 = PR E Hom Bk 511 5ssksksieeokkskok05 14 63
145 =P AAE 2kl 220 1sskskskskskskokskek (0058 62
146 RS Fom Fx 5105kt 267 1 56
147 =R E iEE 4 44525k B8 1 T 54
148 B AR E M [ 430 5s5skskskskskokronkk 0047 50
149 = PR E gk AN 412 Tsssrrerkk 3517 49
150 e R B T ik 211 3otolotototokok 0626 90
151 B B 2T Tl 6103 %skskkotekokkk ] 525 36
152 = B2 Bk [H 231 0seksksiesickkskok 4320 84
153 U PR Wk 3408sksksksksksksksksksk (004 1 33
154 e T B T B 412 Tekiotiotiokok 2335 82
155 e G F T Xl 3505k kK222 82
156 o U B T o 220 1toksosortor4 045 80
157 5 R FE 2 el 3706ksksksksksksksksksk 0519 78
158 i O BRI R 220 1 ketkictiotkk906 1 74
159 5 R B 2 hEF 2102skksksksksskokokek 7224 79
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wE Ty s S SR
160 =L E T %5t R —y 71
161 B LA 2 Al O -
62 o T XK 4103skskskkekstestesiokok 4522 70
163 F L AT I L2 ettt 601 -
61 o F T FlxEE 650 1 skekeksksisiesiekokok 2228 69
L6 PN BKHIE 2107 skeksksieieokokok 3423 68
66 PN U0 1% 142 4sksksesesesteteokek 4 244 66
167 BT A FE3R L0z tiree it 038 "
68 o BT Aok 41 08sksstkekstesiesieokok 0082 48




